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K il T oo o] Best | et [P ko | | BesT | e
= A _FEGATRER 1 800 1000 1000 1800 1 1000 1000 1000 2000
Al BAE V& DTSSC 2 1000 410 1000 1410 2 800 800 800 1600
Hh ZYE BANSSC 5 640 69 640 709 3 640 134 640 774
I T8 1&RISSC 10 262 262 262 4 640 640 640
HLE BEIhE HSC 3 512 800 800 1312 5 410 512 512 922
mE K2 FABRNZERT 13 69 168 168 237 6 512 168 512 680
BE A S BERER 6 512 512 512 7 410 410 410
{hEF J<TE INBER 4 210 640 640 850 8 262 328 328 590
=E 8 ERER 10 262 262 262 9 328 328 328
KE B 1&RISSC 8 35 328 328 363 10 69 262 262 331
5 [Dlo)cs _FEGARER 7 410 210 410 620 11 134 210 210 344
iE EEER MR ER 9 328 328 328 12 210 210 210
kE fEE JLBSSC 12 168 134 168 302 13 168 107 168 275
[CIF Ty =7 A X=F2 JE&EILSC 22 27 35 35 62 14 107 27 107 134
H&E E1E BEIST 15 28 107 107 135 15 55 86 86 141
XA =<5 17 86 28 86 114 16 86 35 86 121
HE T HSC 14 134 55 134 189 17 24 69 69 93
BHE OFED Red Oval Sapporo 16 107 23 107 130 18 25 55 55 80
[SE=g S A X=F2 J&EILSC 23 20 26 26 46 19 44 44 44 88
ERAR B R 28 23 23 23 20 35 35 35
F OEEFE A37YAL° - D370 20 44 27 44 71 21 27 28 28 55
k& B JLBSSC 19 55 55 55 22 28 28 28
ANY 7 S 1= JKFSSC 26 22 25 25 47 23 26 25 26 51
a BE A X=F2 J&EILSC 21 44 44 44 24 26 26 26
HA IEEIE HEARSCOA 29 22 22 22 25 24 24 24
TH = A X=F2 J&EILSC 18 86 86 86 26 23 23 23
INE BE V& DTSSC 30 21 21 21 26 23 23 23
FIl BF 137YAL° - 9370 25 25 24 25 49 28 22 22 22 44
3] = HRERARRER 27 24 24 24 29 21 21 21
A ZFME JKFSSC 24 26 26 26 30 20 20 20
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